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m 1.67x1077
h 6.6x10°*

mv  1.67x107% x2.2x10°

—4.79%10° v =22x10°m /s

b)A= =1.8x10"m

62)W = hf =6.63x10>*x8.0x10" =5.3x10"°J
63)KE =hf —hf, =6.63x10% x1.6x10"° -5.3x10"° =5.3x10™°J

-34
YL 6.63x 10

= — - =8.0x10""m
mv 3.3x107“"'x2.5x10

65) a)w =E:>,10 _1240 1280, 6 10%nm
A, W 47

b)KE _he_he 1240, 7 _36ev
A A 150

hc  6.63x107% x3.00x10°

= —— =5.01x10""m = 501nm
248  2.48x1.60x10

66)4, =

-34
LU 6'_63?X10 —=1.82x10°m/s
mA  9.11x107"x400.0x10

1.82x10°

1.60x107*°

av =

b)KE :% V2 = %9.11><1o31 X =9.43x10 eV

-34 8
a)E:EZG.GC%XIO x3.9?x10 _314%10%°]
632.8x10

:WZZX].O]'SQ}S}A /S

b)n=

A
P 5x10%
E

71)  a) =15x10"x7x(35x10°f =5.8x10°W
34 8
e N0 _ 663x10x300x10° 5 o)
2 550x10
P 58x10"°

n=-"————
E 3.62x107"

=16000s5# /s
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-13.6

n2

, = _13;6 =-3.40eV
(2)

~13.6 ~13.6
- — 151V -
Gk oy

)E, =

=-0.850eV

1 1 1 1
Z)AE = E3 - E2 = —136(3—2 —? 5 —Z] =189eV

1
3)AE=E,—E, = —13.6(4—2

L 1 1) 2ssev
2 16 4

2

4) r. =n’k k=5.3x107"m
(5.3x10™)=2.1x10"°m or 0.21nm
r, =32(5.3x10™*)=4.8x10"°m or 0.48nm

r, =47(5.3x10")=8.5x10""m or 0.85nm

n
22

-11
5 X - >0 o10°m = 2km
0.075  25x10

hc 6.63x107>* x3.00x10°
AE  1.89x1.60x107%
hc  6.63x10°** x3.00x10°
AE  2.55x1.60x107"

a)AE =8.82—6.67 = 2.156V

34 8
b1 = e _ 668x10 Tx300x10° g 7g. 147 _ 578nm
AE 2.15x1.60x10
8)AE = 1€ 1240 _ gey
2 304

E., = E, +AE =-54.4+4.08 =-50.3eV

A= =6.56x10""m =658nm

A= =4.88x10"m =488nm

1 1
14)AE=E,,,—E ., =-13.6 — =2.68x107eV,
) 101 100 [(101)2 (100)2j
hc 1240
A=—C =%
AE  2.68x10

s ySaall ) el Ailaia L ady CilagV 138

=46.3x10°nm = 4.63cm




_hc 1240
AE  5.16-2.93
_hc 6.63x10%x3.00x10° 3.314

3314=—""""
A 6.00x10°’ 1.60x107°

43) =556nm

E =2.07eV

-34 8
44)E _hc _6.63x10 ><3.80><10 83147 — 3.314719 076V
A 6.00x10 1.60x10
Eg xic <l oY) 28 = 6,08-5.16 = 0.92eV
IS al) daUal) = 55 sal) Rala — ) ZEs

=2.07-0.92 = 1.15eV

45)2.93+1.20=4.13eV =E,

46)E, —E, =5.16 —2.93=2.23eV

n2

E, = —13.6( : J - —13.6(%) = ~3.40eV
2

47) E, = —13.6( L j = —13.6(%) =-0.278eV
7

n2

48)E, =-13.6 3 =-13.6 1 =—0.278eV
n2 72

49) a)E, =7.70eV
53 il 4 DU Al 10.38 - 7.70 = 2.68 eV
b)E, = 4.64eV
3_aidll 48l = 7,70 — 4.64 = 3.06 eV

E,—E, =-3.71—(-4.95) =1.24eV

-19
¢ _E _124x160x107 o0 e

h 6.63x10°%

-13.6 -13.6
T Tn? T
_ -136
NCE
_-136
ey

=-3.40eV

=-1.51V

=-0.544eV




a)E, — E, = —0.378 — (—0.544) = 0.166¢V
b)E, — E, =-0.378 — (-1.51) =1.13eV
C)E, — E, = —0.850 — (—3.40) = 2.55eV/
d)E, — E, = —0.544 — (~3.40) = 2.86eV
e)E, — E, =—-0.544— (-1.51) = 0.97eV

a)hf = E; — E; = 0.166eV
. 0.166x1.60x10™"

56310 =4.01x10"Hz
. X

b)hf = E, — E, =1.13eV
‘ 1.13x1.60x107*°

eaa 1o = 273x10Hz
. X

c)hf =E, —E, =2.55eV
( 2.55x1.60x107"°

eag - O15x10MHz
i X

d)hf = E, — E, = 2.86eV
_ 2.86%1.60x107°

=6.90x10"Hz

6.63x107*

e)hf = E; —E, =0.97eV
~ 0.97x1.60x107"

56310 =2.3x10"Hz
. X

8
a)i =S = 300400 5 g 10 m =7480nm
f 401x10

~3.00x10°
2.73x10"
~3.00x10°
~ 6.15x10"
8
- % — 4.35x10°m = 4350
. X
~3.00x10°
2.3x10

b)A =1.10x10°m =1.10x10°nm

c)A =4.88x10""m = 488nm

d)2

e)A =1.3x10°m =1.3x10°nm
_ ¢ _3.00x10°
A 840x107°
B 6.63x1073*x3.57x10"
1.60x107°

=3.57x10"Hz

E=hf =1.5eV




)l _he 1240 _ poenm
AE 290

b) &l

8

_ 0 3000, e3101H;
A 10600x10

B 6.63x107%* x 2.83x10"

1.60x107"

E =hf =0.117eV

a)AE = E _ 1240ev.nm
A A

AE =1.96eV, 2.28¢V, 1.08eV

65)AE=E,-E, = —13.6(3%2 —112) = —13.6(?) =12.1eV

66) AE=E,—FE, = —13.6(2i2 - %j = —13.6(_73j =10.2eV

p= e 1280 _5pmm

AE) 102
2 2
73)KE =7.3x1.60x10™"° =1.2x107"]
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12 r,=4r,=0.106nm
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Sl Juadl) (&) £l cp i Ja

3 2x6.02 x10%x7.13
65.37

1)&/cm =1.31x10%¢€/cm®

23
2)e /om? = 8:02>x107x10.49 _ o on 10226/ cm?
107.87

6.02x10%°x19.32
196.97

3)e/cm’ = =5.90x10%*&/cm?

~ 3x6.02 x102x2.70
26.982

=1.81x10%%e/cm?

4)e /cm?®

5) i s xSV aae = 1.81x10%° x% =1.90x10*°e

o 28.09%9.23x10 ™ .
8) 5,1 & il g SV aae = =1.85%107%%8 /5 2
)il s 6.02x 2.33 7

T, =T, —273=100.0-273=-173'C

72.6x1.16x10"

s 02107 <523~ 28 x107%8 /5,3
. X X .

9) 3,3l A& i g yi<IY) axe =

72.6x3.47

502105 <E.23 =8.00x10"g /5.2
.02x x5.

10) 33 & <l g yiSIY) 2 =

of 2.25x10"
x10°| —————
il el ne 4.34%10
psbe all &l jh2ae 1
psilasall &) 2e = 2.25x10°

23
w3 il 2ae = G'OZX;Z 6X5'23 —4.34x10%25,5 [cm®

J =259x10°°

12)

dalad) L 4.34x10%

1) LAl S T g a3ka0”

Aallaall el 4,99 x10%

Aadled) B _ )
) SO0 S8 ™ [ q0f wasanaor 00




22)V, = IR+V, =0.0025x 470+ 0.50 =1.7V

23V, = IR+V, +V, =0.0025(470) + 0.50+0.50 = 2.2V

26)V, = IR +V, =0.012x 470 +0.40 = 6.0V

27)

a)te = 66 499
I, 0.055

23
53) 6.02x107x0.971 _, £, 10226/ om?

22.99

6.02x10%°x2.33

54— 2809 30,10/
1.55x10

V, -V, 60-12

55)  a)l =-b = 2.0x10'mA

R 240

seR <Ve Vs _ 60-12
| 8.0x10

=160Q2

57\, = IR +V, = (15x270)+0.70 = 4.8V

60)1 = % =1100nm

63)E = 1240 =2.25%V
550

0)2.0x10'MA = i adl s
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1) by sigell ae = A—Z  =234-92 =142 &5
= 235 — 92 = 143 (5 _sis
=238 — 92 = 146 (s

2)A-Z=15-8=7 Qs
3)A-Z=200-80=120 g5
HiH H H

5) a)alisll 4=di=12.000000 — 6 x 1.007825 — 6 x 1.008665 = - 0.098940 u
b) L.l 4dl = - 0.098940 x 931.49 = - 92.161 MeV

a) Al J=8 = 2,014102 — 1.007825 — 1.008665 = - 0.002388 u
b) Ll 48Ua = - 0.002388 x 931.49 = 2.2244 MeV

a) A<l (i = 15010109 — 7 (1.007825) — 8 (1.008669) = - 0.113986 u
b) a1l 4l = - 0.113986 x 931.49 = - 106.18 MeV

a) A i = 15.994915 — 8 (1.007825) — 8 (1.008669) = - 0.137005 u
b) M) 48Ua = - 0,137005 x 931.49 = - 127.62 MeV

13) @) 4SH Lz = 14.003074 — 6 (1.007825) — 8 (1.008665) = - 0.113169 u
b) a1l 4l = - 0.113169 x 931.49 = - 105.44 MeV

15)°5U —— 23Th+,He
16)%3Th—— “2°Ra+;He

17)%Ra——>22Rn+,He




18) % Pb —— *2Bi + e + Ju~

19)C — YN + e+ v

200 a)ic— X+ %+, Z=6-(-1)-7,A=14-0=14
bysCr —— X + %+ 0,2 =24—(-1)=25,A =55-0=55

21){06Sg——>10:Rf +,He

22)"N+H——C+,He, z=7+1-2=6,A=15+1-4=12

t 2

24) didiall AL = A laY) 4l (%j :1.0>{%) =0.25¢
‘ 1 1Y)

25) Al AN = Al £l (Ej =4.0><(EJ =0.25g

2
26) o=laiy) Llall = 2 ><106[%J =5x10°Bq

(9.11x1o-31)
1.6605x107%'

33)E = [2 (1.007825)-2.014102 -

]931.49 =0.931MeV

35) a)E=mc?=1.6x10"?"x3.00x10% =1.50x107°J
-10

b)E = 1.50x10 _
1.60217 x10

C) sa¥) &l = 2 x 9.36 x 108 = 1.87 x 10° eV

=0.36x10%eV

36) Gl ls glad) 48a = 1.02 - 0.225 - 0.357 = 0.438 MeV

37) a)E, =m, x931.49 =1.00865x931.49 = 939.56MeV
b)E,..., = 2E, = 2x939.56 =1879.1MeV

total

9.109x107**

38) Jlaea¥l &k = | 01135 —| —— " —
1.6605x 10

H x931.49 =105.2MeV

52 mattya
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66) a) 4Ll s = 31.97207 — 16 x 1.007825 - 16 x 1.008665 = - 0.29177u
b) L. W 48l = - 0.29177 x 931.5 =-271.78 MeV

-271.8

C) sl JSh oy )l Adla = = —8.494MeV /o 5

oo 1:60x10° 19%1.60x107"°

2.0x107% =8N

68)F =Kk 9292 _g 051
d

69) il ils = — 283 | 5 007825) + 2x1.008665 = 4.00u

931.49
73) a) —aail) s @ =20

20
Auavial) salal) A = (%) x100 = (j %100 = 25%

b)u@s\ﬁ;__g= _

30
Auavial) salal) A (%} x100 = ( j x100=13%
12

C) caaill joe = = =40
) 3.0

1 t 1 40
daaniall salal) A = (E] x100 = (Ej x100 =6.3%

0.235

76)E =2.0x10" x5.0x10"* x — —
3.21x107"x6.02x10

=1.2kg

79)uuu = 3(+ %) =2 il daas

80)u+5:+§+(—%]:+1 Ayl dias

81) a)d+u:+§+[_ %jj:

b)d +U=—1+(— +z
3 3

j=_1
c>d+u—_1+(_ _ED 0

3




82) a)d+d+u :2(—1}[
3)"\3

m_+U+J=—3+—E+
3 3

_2(2.0x10°) 2.1x107s

~ 3.0x10°

400.0x10° —8.00x10°
b) &l all dae = =1.6x10° 5,
)<= 2.5x10° St
C)t=1.6x10°x2.1x107° = 3.4s

c)d =vt=3.00x10°x3.4=1.0x10°m

83) at = d
Vv

85) a)IN+,He—YF ,  Z=7+2=9 A=14+4=18
b)ZAl + JHe ——> 3P ,  Z =13+2=15 A=27+4=31

60
86) caaill oo = ——
) 15

91)25MeV = 25x10° x1.6022x107*° = 4.0x107*?J /Je\&

26
= DO g
4.0x10
~h 663x10%
" mA 9.11x10%x4.00x10°°
b)KE = Ly = Ly 9.11x10°41.82x10°f
2 2 1.60x107"°

a)v =1.82x10°m/s

=9.43x10°eV

96)KE =14.0 + (-13.6) = 0.4eV
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